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December, 2006 SIGNATURE

YOU MAY NOT SHARFE, CALCULATORS. SHOW ALL YOUR WORK

1(18pts). Find the [ollowing antiderivatives:
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2(12pts). Evaluate the following definite integrals:
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[image: image2.png]3(8pts). Find the profit function P(z) if the overhead (fixed cost) is $200 and the marginal profit
function is P'(z) = 15 + 2z — 0.06x%
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4(8pts). Use the substitution method to find the antidertvative
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5{10pts). Express the area of the shaded region in terms of definite integrals. (Do not evaluate
the integrals.)
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[image: image3.png]6(1dpts). If / flz)de = 10, / w)da = 5, / g{zydr = -3, find the values of the following
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7(8pts). Let R be the region enclosed by the 4 curves: y = f(z) = V22 + Ly =0, 2= —1l,x = 1.
Approximate the area, A(R), of R, using the left point rule with n = 4
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[image: image4.png]8(10pts). Use the substitution method to evaluate the definite integral
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9(12pts). Let R be the region enclosed by the two curves: y 2 —1and y = 2 + 2z.
(a) Sketch a graph of the region R. (Note: You must find the intersections of the twg/T ifves.)

Y= x=| = 2¥2x

P xTax-3 =(k-3)(xt =0
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(1) Express A(R), the area of the region R, in terms of a definite integral. (Do not evaluate this
integral.)
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